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Question Type : MCQ
Question ID : 630680334988
Option 1 ID : 6306801303207
Option 2 ID : 6306801303206
Option 31D : 6306801303208
Option 4 ID : 6306801303205
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680334983
Option 1 ID : 6306801303187
Option 2 ID : 6306801303185
Option 3 ID : 6306801303186
Option 4 ID : 6306801303188
Status : Answered
Chosen Option: 3
Marks : 2
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Ans

Question Type : MCQ
Question ID : 630680334981
Option 11D : 6306801303179
Option 2 ID : 6306801303178
Option 3 1D : 6306801303180
Option 4 1D : 6306801303177
Status : Answered
Chosen Option: 1
Marks : 2
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Question Type : MCQ
Question ID : 630680335005
Option 1 ID : 6306801303276
Option 2 ID : 6306801303274
Option 3 ID : 6306801303273
Option 4 ID : 6306801303275
Status : Answered
Chosen Option : 4
Marks : 2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334993
6306801303227
6306801303225
6306801303228
6306801303226
Answered

4

2
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¢ 2. FATTT HAUT TIET
X 3 FdreT HaoT
X 4 FHAUT gIET

Question Type :
: 630680334987
: 6306801303202
1 6306801303204
: 6306801303201
: 6306801303203
: Answered
Chosen Option :
Marks :

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status

McQ

2
2
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Question Type : MCQ
Question ID : 630680335003
Option 11D : 6306801303268
Option 2 ID : 6306801303265
Option 31D : 6306801303266
Option 4 1D : 6306801303267
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680334994
Option 1 ID : 6306801303232
Option 2 ID : 6306801303230
Option 3 ID : 6306801303229
Option 4 ID : 6306801303231
Status : Answered
Chosen Option : 4
Marks : 2
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Question Type : MCQ
Question ID : 630680334995
Option 1 1D : 6306801303236
Option 2 ID : 6306801303234
Option 3 1D : 6306801303233
Option 4 ID : 6306801303235
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680334986
Option 11D : 6306801303198
Option 2 1D : 6306801303199
Option 31D : 6306801303200
Option 4 1D : 6306801303197
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680334992
Option 11D : 6306801303224
Option 2 ID : 6306801303223
Option 3 ID : 6306801303222
Option 4 ID : 6306801303221
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680334985
Option 11D : 6306801303193
Option 2 ID : 6306801303194
Option 3 ID : 6306801303196
Option 4 ID : 6306801303195
Status : Answered
Chosen Option : 3
Marks : 2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option
Marks

McQ
630680334982
6306801303181
6306801303183
6306801303184
6306801303182

: Answered
|
12

Ans

X 2. ATSET e 3T L.
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Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 D :

Status:

Chosen Option :

Marks :

McQ
630680334999
6306801303251
6306801303250
6306801303249
6306801303252
Answered

4

2
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Question Type : MCQ
Question ID : 630680334991
Option 11D : 6306801303218
Option 2 ID : 6306801303217
Option 31D : 6306801303219
Option 4 ID : 6306801303220
Status : Answered
Chosen Option: 2
Marks : 2
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Question Type : MCQ
Question ID : 630680335004
Option 1 ID : 6306801303270
Option 2 ID : 6306801303269
Option 3 ID : 6306801303272
Option 4 ID : 6306801303271
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680335000
Option 11D : 6306801303253
Option 2 ID : 6306801303254
Option 3 ID : 6306801303256
Option 4 ID : 6306801303255
Status : Answered
Chosen Option : 1
Marks : 2
Q.18
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Ans x hd
I JeH
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Question Type : MCQ
Question ID : 630680335002
| Option 11D : 6306801303263
Option 2 ID : 6306801303261
| Option 3 ID : 6306801303262
Option 4 ID : 6306801303264
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680334984
Option 1 1D : 6306801303190
Option 2 ID : 6306801303192
Option 31D : 6306801303189
Option 4 ID : 6306801303191
Status : Answered
Chosen Option: 4

Marks : 2
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Question Type : MCQ
Question ID : 630680334989
Option 1 ID : 6306801303211
Option 2 ID : 6306801303212
Option 3 1D : 6306801303210
Option 4 ID : 6306801303209
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680335001
6306801303260
6306801303257
6306801303258
6306801303259
Answered

2

2
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Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680334998
6306801303246
6306801303245
6306801303247
6306801303248
Answered

2

2
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Question Type : MCQ
Question ID : 630680334997
Option 1 1D : 6306801303242
Option 2 ID : 6306801303243
Option 3 1D : 6306801303241
Option 4 1D : 6306801303244
Status : Answered
Chosen Option: 3
Marks : 2

Q.24 3oy 3T AT, FUREAT TS TT FETTFAEE AR AT oS Eeanedf o= siEa.

Ans X1 37eTORY
v 2 AT

X3 fafeR
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Question Type : MCQ
Question ID : 630680334990
Option 1 ID : 6306801303216
Option 2 ID : 6306801303214
Option 3 ID : 6306801303215
Option 4 ID : 6306801303213
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680334996
Option 11D : 6306801303239
Option 2 ID : 6306801303240
Option 31D : 6306801303238
Option 4 1D : 6306801303237
Status : Answered
Chosen Option : 3
Marks : 2

Q.1 Select the most appropriate articles to fill in the blanks (¢ indicates no article needed).

Burj Khalifa is
Ans 4 1.the; the

X 200
X 3.9, the
X 4.the; o

tallest building in whole world.

Question Type : MCQ
Question ID : 630680334931
Option 1 ID : 6306801302979
Option 2 ID : 6306801302980
Option 3 ID : 6306801302977
Option 4 ID : 6306801302978
Status : Answered
Chosen Option : 1
Marks : 2
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Q.2 Select the most appropriate article to fill in the blank. Select ‘No article’ if no article is

required.
| met old man down the lane yesterday.
Ans X 1.the
& 2.an
X 3.a
< 4. No article
Question Type : MCQ
Question ID : 630680334944
Option 11D : 6306801303031
Option 2 ID : 6306801303030
Option 3 1D : 6306801303029
Option 4 1D : 6306801303032
Status : Answered
Chosen Option: 2
Marks : 2
Q.3 Select the most appropriate ANTONYM of the given word.
Artificial
Ans 4 1. Natural
< 2.FALSE
/X 3.Bogus
X 4. Unreal
Question Type : MCQ
Question ID : 630680334967
Option 1 1D : 6306801303124
Option 2 ID : 6306801303122
Option 31D : 6306801303121
Option 4 1D : 6306801303123
Status : Answered
Chosen Option : 1
Marks : 2
Q.4 Select the most appropriate synonym of the given word.
Solitary
Ans X 1.Hasty
/X 2. Strict
" 3. Isolated
X 4. Flexible
Question Type : MCQ
Question ID : 630680334908
Option 11D : 6306801302886
Option 2 ID : 6306801302885
Option 31D : 6306801302887
Option 4 1D : 6306801302888
Status : Answered
Chosen Option: 3
Marks : 2
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Q.5 Select the most appropriate meaning of the given proverb.
A bad workman blames his tools.

Ans X 1.Itis said when someone has blamed himself for a mistake or failure.

¥ 2. Itis said when someone has blamed a mistake or failure on the things that they use
to work.

/< 3.ltis said when someone has blamed a mistake or failure on the circumstances.

< 4. Itis said when someone has blamed a mistake or failure on his co-workers.

Question Type : MCQ
Question ID : 630680334966
Option 11D : 6306801303117
Option 2 1D : 6306801303118
Option 31D : 6306801303120
Option 4 1D : 6306801303119
Status : Answered
Chosen Option: 3
Marks : 0

Q.6 Part of the given sentence that has been underlined contains an error. Select the option that
correctly rectifies the error.

It is been raining cats and dogs since 8 a.m.
Ans X 1.ltis raining

25 2. It will rain
& 3. It has been raining
X 4.1t has rained

Question Type : MCQ
Question ID : 630680334935
Option 11D : 6306801302993
Option 2 ID : 6306801302996
Option 3 ID : 6306801302994
Option 4 1D : 6306801302995
Status : Answered
Chosen Option : 3
Marks : 2

Q.7 Select the most appropriate option to fill in the blank.

I have work to do than | did yesterday.
Ans X 1.many

< 2. much
/< 3.most
o 4. more

Question Type : MCQ
Question ID : 630680334942
Option 1 1D : 6306801303022
Option 2 ID : 6306801303023
Option 3 1D : 6306801303024
Option 4 ID : 6306801303021
Status : Answered
Chosen Option : 2
Marks : 0
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Q.8 Select the option that expresses the given sentence in passive voice.

Hassan was flying a kite.
Ans & 1. Akite was being flown by Hassan.

X 2. Akite being flown by Hassan.
X 3. Akite was flown by Hassan.
X 4. Akite will be flown by Hassan.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334936
6306801302998
6306801302999
6306801302997
6306801303000
Answered

1

2

Q.9 Select the most appropriate adverb to fill in the blank.

My mother’s food preparations are always delicious.

Ans X 1.suddenly
/5 2. shockingly
X 3. ordinarily

" 4. surprisingly

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334940
6306801303014
6306801303015
6306801303016
6306801303013
Answered

3

0

Q.10 Select the correctly spelt word to fill in the blank.

is to be learnt by all.
Ans ¥ 1. Etiquette

/X 2. Etiquete
X 3. Etiqquette
X 4. Etiquett

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334932
6306801302984
6306801302983
6306801302982
6306801302981
Answered

1

2
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Q.11 Select the most appropriate option to fill in the blank.

My college starts 10 a.m.
Ans X 1.in
X 2. for
X 3.0on
o 4. at
Question Type : MCQ
Question ID : 630680334930
Option 11D : 6306801302975
Option 2 ID : 6306801302976
Option 3 1D : 6306801302974
Option 4 ID : 6306801302973
Status : Answered
Chosen Option : 4
Marks : 2
Q.12 Select the most appropriate option to fill in the blank.
Farha some blueberry muffins for breakfast now.
Ans X 1.had made
5 2. was making
& 3.is making
/X 4. will be make
Question Type : MCQ
Question ID : 630680334969
Option 11D : 6306801303132
Option 2 ID : 6306801303129
Option 3 1D : 6306801303130
Option 4 ID : 6306801303131
Status : Answered
Chosen Option : 3
Marks : 2
Q.13 Select the most appropriate punctuation to fill in the blank.
| bought books written by Ruskin Bond Jane Austen and Agatha Christie
yesterday.
Ans X 1.“(double quotation mark)
/X 2. (single quotation mark)
X 3.-(hyphen)
" 4., (comma)
Question Type : MCQ
Question ID : 630680334943
Option 11D : 6306801303027
Option 2 ID : 6306801303026
Option 3 1D : 6306801303028
Option 4 ID : 6306801303025
Status : Answered
Chosen Option : 2
Marks : 0
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The child will pick up the cute puppy.

#5 4. The cute puppy will pick up the child.

Q.14 Select the option that expresses the given sentence in passive voice.

Ans X 1.The cute puppy will have been picked up by the child.
" 2. The cute puppy will be picked up by the child.
25 3. The cute puppy would be picked up by the child.

Question Type : MCQ
Question ID : 630680334968
Option 11D : 6306801303126
Option 2 ID : 6306801303128
Option 31D : 6306801303127
Option 4 1D : 6306801303125
Status : Answered
Chosen Option : 2
Marks : 2
Q.15 Select the most appropriate option to fill in the blank and make a grammatically correct
sentence.
This journal is very popular and is twice a month.
Ans X 1.appeared
" 2. published
< 3. appears
/X 4. appearing
Question Type : MCQ
Question ID : 630680334965
Option 11D : 6306801303114
Option 2 ID : 6306801303116
Option 31D : 6306801303113
Option 4 ID : 6306801303115
Status : Answered
Chosen Option : 2
Marks : 2
Q.16 Select the most appropriate question tag to fill in the blank.
It is not our place and | feel we shouldn’t say anything,
Ans X 1.would we?
75 2.do we?
< 3. could we?
" 4. should we?
Question Type : MCQ
Question ID : 630680334934
Option 1 1D : 6306801302992
Option 2 ID : 6306801302989
Option 31D : 6306801302991
Option 4 1D : 6306801302990
Status : Answered
Chosen Option : 4
Marks : 2
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Empty bags can’t stand upright.

Q.17 Select the most appropriate meaning of the given proverb.

Ans X 1. A friend cannot help others if he is in trouble.
#< 2. To gain financial benefits, one must cut down expenses.
25 3. Sacks must be filled with sand to use it as barriers.

& 4. A poor or hungry person cannot discharge their duties well.

Question Type : MCQ
Question ID : 630680334961
Option 11D : 6306801303098
Option 2 ID : 6306801303100
Option 3 1D : 6306801303099
Option 4 ID : 6306801303097
Status : Answered
Chosen Option: 1
Marks : 0
Q.18 Select the most appropriate question tag to fill in the blank.
You're coming to the party, ______ ?
Ans X 1.dontyou
o 2. aren't you
/< 3. can'tyou
/5 4. won't you
Question Type : MCQ
Question ID : 630680334941
Option 11D : 6306801303018
Option 2 ID : 6306801303017
Option 3 ID : 6306801303020
Option 4 ID : 6306801303019
Status : Answered
Chosen Option : 2
Marks : 2
Q.19 Identify the most appropriate ANTONYM of the given word.
Clever
Ans X 1.Impractical
" 2. Dull
/< 3. Canned
/5 4. Unoriginal
Question Type : MCQ
Question ID : 630680334939
Option 11D : 6306801303011
Option 2 ID : 6306801303012
Option 3 ID : 6306801303009
Option 4 ID : 6306801303010
Status : Answered
Chosen Option : 2
Marks : 2
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Q.20 Select the most appropriate punctuation mark to fill in the blank.

| loved reading Hitesh's book, The Future of Mankind
Climate Crisis.

Ans o 1.:(colon)
X 2., (comma)
#< 3.; (semicolon)

75 4. (apostrophe)

The Anthropocene and the

Question Type : MCQ
Question ID : 630680334937
Option 1 ID : 6306801303003
Option 2 ID : 6306801303001
Option 31D : 6306801303002
Option 4 ID : 6306801303004
Status : Answered
Chosen Option : 1
Marks : 2

Q.21 Identify the spelling errors in the following sentence and select the correctly spelt sentence
from the given options.

The apex coart made the observetion while sentenceing a man to five years of
imprisonment for torturring his wife and abeting her suicide.

Ans X 1.The apex court made the obsarvation while sentencing a man to five years of
imprisonment for torturring his wife and abeting her suicide

&" 2. The apex court made the observation while sentencing a man to five years of
imprisonment for torturing his wife and abetting her suicide

#< 3. The apex court made the obsarvetion while sentenceing a man to five years of
imprisonment for torturing his wife and abetting her suiecide

< 4. The apex court made the observasion while sentencing a man to five years of
imprisonment for torturring his wife and abetting her suicide

Question Type : MCQ
Question ID : 630680334906
Option 1 ID : 6306801302880
Option 2 ID : 6306801302877
Option 3 1D : 6306801302878
Option 4 ID : 6306801302879
Status : Answered
Chosen Option : 2
Marks : 2
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You shall had a holiday tomorrow.
Ans X 1.shall has

X 2. had
/X 3. has shall
" 4. shall have

Q.22 Select the option that can substitute the underlined segment in the given sentence to make
it grammatically and contextually correct.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334964
6306801303110
6306801303109
6306801303112
6306801303111
Answered

4

2

an error.

| usually love to read in night.

Q.23 Parts of the following sentence have been given as options. Select the option that contains

Ans  # 1.In
X 2.To
X 3. Love
75 4. Usually
Question Type : MCQ
Question ID : 630680334938
Option 1 1D : 6306801303007
Option 2 ID : 6306801303006
Option 3 ID : 6306801303008
Option 4 ID : 6306801303005
Status : Answered
Chosen Option : 1
Marks : 2
Q.24 Select the most appropriate meaning of the underlined idiom in the following sentence.
His idea of starting a cafe where only robots will serve food is just a flash in the pan.
Ans & 1. Amomentary success
X 2. A huge attraction
Z< 3. An evil intention
75 4. A narrow escape
Question Type : MCQ
Question ID : 630680334907
Option 11D : 6306801302881
Option 2 ID : 6306801302884
Option 3 1D : 6306801302882
Option 4 ID : 6306801302883
Status : Answered
Chosen Option : 4
Marks : 0
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Q.25 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.

A ceiling fan is one that is mount / on the ceiling of your room, runs on electricity / and uses

rotating blades which cut the air / to produce airflow.
Ans " 1. Aceiling fan is one that is mount

25 2. to produce airflow
/< 3. and uses rotating blades which cuts the air

/5 4. on the ceiling of your room, runs on electricity

Question Type : MCQ
Question ID : 630680334933
Option 1 1D : 6306801302985
Option 2 ID : 6306801302988
Option 3 1D : 6306801302987
Option 4 1D : 6306801302986
Status : Answered
Chosen Option: 3
Marks : 0
Section : General Knowledge
Q.1 What are apical meristems characterised as?
Ans X 1. Secondary meristems
«* 2. Primary meristems
2 3. Adventitious meristems
/X 4. Lateral meristems
Question Type : MCQ
Question ID : 630680334919
Option 1 ID : 6306801302930
Option 2 ID : 6306801302932
Option 3 1D : 6306801302931
Option 4 ID : 6306801302929
Status : Answered
Chosen Option : 2
Marks : 2
Q.2 According to the citizenship Amendment Act 2005, which two countries citizens were
excluded for registration as the overseas citizen of India?
Ans X 1. Maldives & Sri Lanka
75 2. Nepal and Bhutan
o 3. Pakistan and Bangladesh
/5 4. China and Korea
Question Type : MCQ
Question ID : 630680334952
Option 11D : 6306801303063
Option 2 ID : 6306801303064
Option 31D : 6306801303062
Option 4 ID : 6306801303061
Status : Answered
Chosen Option : 3
Marks : 2
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Ans X 1.Chausa
" 2. Plassey
75 3. Talikota

< 4. Buxar

Q.3 Mir Jafar became the Nawab of Bengal after the battle fought in

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334962
6306801303104
6306801303101
6306801303103
6306801303102
Answered

1

0

Information Act of India?
Ans

/X 3. Cabinet papers

/< 4. Deliberations of the Council of Ministers

< 1. Information received in confidence from foreign governments

&" 2. Information related to road contracts and infrastructure details

Q.4 Which of the following information is NOT exempted from the disclosure under the Right to

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334971
6306801303139
6306801303140
6306801303137
6306801303138
Answered

2

2

Q.5 As per the amendments to the RTI Act, the
Central and State Information Commissioners.

Ans " 1. Central Government
Z5 2. Indian Parliament
5 3. President of India

/5 4. Supreme Court of India

decides the tenure and salaries of the

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334970
6306801303136
6306801303134
6306801303135
6306801303133
Answered

1

2
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Ans " 1. Warren Hastings
< 2. Lord Hasting
25 3. Lord Cornwallis
/5 4. Lord Wellesley

Q.6 The Faujdari Adalat and Diwani Adalat were first established as a justice system under
which of the following Governor-Generals in India?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

Status

McQ
630680334916
6306801302919
6306801302920
6306801302917
6306801302918

3
0

new slide will be
Ans X 1.blank design

75 3. blue colour blank slide

o” 2. the same as other slides in the presentation

75 4. Completely white background cannot decide

Q.7 When you insert a new slide in MS-PowerPoint presentation, the design/background of the

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680334980
6306801303173
6306801303175
6306801303174
6306801303176
Answered

2

2

Ans X 1. Ministry of Defence
75 2. Ministry of Law and Justice
5 3. Ministry of Minority Affairs
&* 4. Ministry of Home Affairs

Q.8 InIndia, which of the following ministries deals with citizenship?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334917
6306801302922
6306801302921
6306801302924
6306801302923
Answered

4

2
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Q.9 What does the term 'plastochron’ refer to?
Ans X 1. Aunit of photosynthetic capacity

" 2. Time gap between two successive primordia
75 3. Atype of plastid involved in pigment synthesis

< 4. A measure of chlorophyll content in leaves

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334920
6306801302936
6306801302934
6306801302935
6306801302933
Answered

2

2

on .

Ans X 1.15" August 2009

& 2. 150 April 2010
. pri
3. 15 April 2009
7< 4. 2" October 2009

Q.10 The Right of Children to Free and Compulsory Education (RTE ) Act, 2009 came into effect

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334951
6306801303058
6306801303060
6306801303057
6306801303059
Answered

2

2

Bachao Andolan?
Ans X 1. Vitthal Shastri

5 2. AR Shinde
" 3. Baba Amte
/X 4. Gopal Agarwal

Q.11 Who among the following social reformers of Maharashtra was associated with Narmada

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334945
6306801303035
6306801303036
6306801303033
6306801303034
Answered

1

0
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Agadi in Maharashtra?
Ans X 1.Jayashree Bhosale

#< 2. Ruhi Tewari
& 3. Sharad Anantrao Joshi
/5 4. Vivek Velankar

Q.12 Who among the following was the founder of the Shetkari Sanghtana and Shetkari Mahila

Question Type :
Question ID :

: 6306801303039
: 6306801303038
: 6306801303037
: 6306801303040
Status:

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

McQ
630680334946

Answered
3
2

Ans 4 1.1923
X 2.1921
X 3.1922
X 4.1924

Q.13 The Hindustan Republican Association (HRA) was set up in

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334947
6306801303043
6306801303041
6306801303042
6306801303044
Answered

3

0

Ans X 1. Carpenter ant
X 2. Parrots
¥ 3. Earthworm

/5 4. Rat

Q.14 Which of the following animals is recognised as the farmer's friend?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680334918
6306801302926
6306801302927
6306801302925
6306801302928
Answered

3

2

nttp://www.adda247.com/mr

Adda247HRTSt App

https://t. me/Adda247Marathi



https://t.me/Adda247Marathi
https://www.adda247.com/?_branch_match_id=1073533051141160270&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=
https://www.adda247.com/mr/

Q.15

Ans

, born in 1870, was a Historian in Pre-independent India and also served as a

Vice-Chancellor of the University of Calcutta.

o 1. Jadunath Sarkar
< 2.CV Raman
/% 3. Satyendra Nath Bose

/5 4. Srinivasa Ramanujan

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334963
6306801303108
6306801303106
6306801303107
6306801303105
Answered

1

2

Ans

executives?
X 1. Google
< 2. Amazon

/< 3.Coca Cola
¥ 4. Rolls Royce

Q.16 In May 2023, CBI filed a corruption case against which international company’s top

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680334950
6306801303053
6306801303054
6306801303056
6306801303055
Answered

2

0

Ans

o 1. eFR

< 2. Online streaming of High Court proceedings

#< 3. Mahila thana

/5 4. Online streaming of District Court proceedings

Q.17 In July 2022, Uttarakhand introduced which of its first kind of service along with police app?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334953
6306801303066
6306801303065
6306801303067
6306801303068
Answered

3

0
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Q.18 Which type of ecosystem is Ladakh known for?
Ans  # 1. Cold desert

/5 2. Tropical
#< 3. Rainforest
% 4.Tidal

Question Type : MCQ
Question ID : 630680334922
Option 1 ID : 6306801302942
Option 2 ID : 6306801302943
Option 3 ID : 6306801302941
Option 4 ID : 6306801302944
Status : Answered
Chosen Option : 1
Marks : 2

Q.19 ‘Swachh Toycathon', a unique competition to make toys from ‘waste’, was launched by which
of the following ministries?

Ans X 1. Ministry of Agriculture & Farmers Welfare
/5 2. Ministry of Commerce and Industry
&" 3. Ministry of Housing and Urban Affaires

#5 4. Ministry of Animal Husbandry, Dairying And Fisheries

Question Type : MCQ
Question ID : 630680334914
Option 11D : 6306801302909
Option 2 ID : 6306801302911
Option 31D : 6306801302912
Option 4 ID : 6306801302910
Status : Answered
Chosen Option : 3
Marks : 2

Q.20 In May 2023, a MiG-21 jet crashed in which of the following states of India?
Ans X 1.Madhya Pradesh

/X 2. Haryana
" 3. Rajasthan
Z5 4. Punjab

Question Type : MCQ
Question ID : 630680334948
Option 1 1D : 6306801303048
Option 2 ID : 6306801303045
Option 31D : 6306801303047
Option 4 ID : 6306801303046
Status : Answered
Chosen Option: 2
Marks : 0
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Q.21 As per Census 2011, which state in India has the lowest population density?

Ans

/< 1. Nagaland

% 2. Sikkim

< 3. Mizoram

¥ 4. Arunachal Pradesh

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334912
6306801302904
6306801302902
6306801302903
6306801302901
Answered

4

2

Q.22 G20 India’s 3™ Environment and Climate Sustainability Working Group (ECSWG) meeting

concluded in May 2023 in

Ans X 1.Chennai
< 2. Delhi
X 3. Kolkata
¥ 4. Mumbai
Question Type : MCQ
Question ID : 630680334913
Option 1 1D : 6306801302906
Option 2 ID : 6306801302907
Option 3 1D : 6306801302908
Option 4 1D : 6306801302905
Status : Answered
Chosen Option : 1
Marks : 0
Q.23 Which river is known for the Jog Falls?
Ans X 1. Mahanadi River
5 2. Tungabhadra River
& 3. Sharavati River
75 4. Krishna River
Question Type : MCQ
Question ID : 630680334921
Option 1 1D : 6306801302940
Option 2 ID : 6306801302937
Option 31D : 6306801302938
Option 4 1D : 6306801302939
Status : Answered
Chosen Option: 3
Marks : 2
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Q.24 In February 2023, the Government launched a mobile app named Khanan Prahari. This app
is designed to report unauthorised mining of which of the following elements?

Ans X 1.Gold
" 2. Coal
/< 3. Bauxite
Z5 4. Lithium

Question Type : MCQ
Question ID : 630680334949
Option 1 1D : 6306801303052
Option 2 ID : 6306801303050
Option 3 1D : 6306801303049
Option 4 1D : 6306801303051
Status : Answered
Chosen Option : 2
Marks : 2

Q.25 The book titled ‘Guts Amidst Bloodbath’ is the narrative of which of the following cricketers
published on 19 May 2023?

Ans X 1.Kapil Dev
/< 2. Ravi Shastri
«” 3. Anshuman Gaekwad
75 4. Sunil Gavaskar

Question Type : MCQ
Question ID : 630680334915
Option 1 ID : 6306801302914
Option 2 ID : 6306801302916
Option 31D : 6306801302913
Option 4 ID : 6306801302915
Status : Answered
Chosen Option : 1
Marks : 0

Section : General Intelligence
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Q.1 el s1aR, g mifcdar d@evf e snfoy uema swr . Aleft § Faw sdieg sedias
FRIEAT 3R,
(SE)HE&VEMOQS@YSLWTR#CU*E£JXZ>LI(IWA)
% ar2ft foreft A8 amda, suidehl wedarrem aTarsdla oimeft gah w@R o1g URg ATasdld Sar @R
ATE?

Ans X 1.9R
X 2u&
o 3.3
X o4&

Question Type : MCQ
Question ID : 630680334925
Option 11D : 6306801302953
Option 2 ID : 6306801302956
Option 3 1D : 6306801302955
Option 4 ID : 6306801302954
Status : Answered
Chosen Option: 3
Marks : 2

Q.2 Read the given statements and conclusions carefully. You have to take the given statements
to be true even if they seem to be at variance from commonly known facts. You have to
decide which conclusion/s logically follow/s from the given statements.

Statements: All Horses are Grasses. All Grasses are Vegetables. All Rocks are Vegetables .
Conclusion 1: All Horses are Vegetables.
Conclusion 2: No Rock is a Grass.

Ans X 1.Both Conclusions 1 and 2 follow.
&” 2. Only Conclusion 1 follows.
Z5 3. Neither Conclusion 1 nor 2 follows.

75 4. 0nly Conclusion 2 follows.

Question Type : MCQ
Question ID : 630680334954
Option 1 ID : 6306801303072
Option 2 ID : 6306801303069
Option 3 ID : 6306801303071
Option 4 ID : 6306801303070
Status : Answered
Chosen Option : 2
Marks : 2

nttp://www.adda247.com/mr Adda247HRTSt App https://t.me/Adda247Marathil


https://t.me/Adda247Marathi
https://www.adda247.com/?_branch_match_id=1073533051141160270&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=
https://www.adda247.com/mr/

Ans X 1.3:2
X 2.2:1
X 3.2:3
412

Q.3 In what ratio must water be mixed with milk costing ¥12/L to obtain a mixture worth ¥8/L?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334960
6306801303093
6306801303096
6306801303094
6306801303095
Answered

4

2

Ans X 1.AC245
X 2.AQ255
o 3.AD 225
X 4.BC625

Q.4 ‘ZC 171’ is related to ‘DG 121’ in a certain way. In the same way, ‘PS 13’ is related to ‘TW 169'.
To which of the following is ‘WZ 15’ related following the same logic?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334955
6306801303074
6306801303075
6306801303073
6306801303076
Answered

3

2

Ans X 1.315000
7< 2.320,000
& 3.310,000
% 4.312,000

Q.5 If the manufacturer gains 12%, the wholesale dealer gains 15% and the retailer 20%, then
find the cost of production of a table, the retail price of which is ¥15,456.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334972
6306801303143
6306801303144
6306801303141
6306801303142
Answered

3

2
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35% of 1500 + X = 45% of 4200 — 320
Ans X 1.1012

Q.6 Find the value of (X) in the given equation.

< 2.980
o 3.1045
< 4.910
Question Type : MCQ
Question ID : 630680334958
Option 1 1D : 6306801303087
Option 2 ID : 6306801303086
Option 31D : 6306801303088
Option 4 1D : 6306801303085
Status : Answered
Chosen Option: 3
Marks : 2
Q.7 If + means -, - means x, x means +, + means +, what will come in place of the (?)?
54+16-3+6x2=?
Ans 1.9
X 212
<37
X 411
Question Type : MCQ
Question ID : 630680334929
Option 1 ID : 6306801302970
Option 2 ID : 6306801302972
Option 3 1D : 6306801302969
Option 4 ID : 6306801302971
Status : Answered
Chosen Option : 1
Marks : 2
Q.8 What should come in place of the question mark (?) in the given series based on the English
alphabetical order?
SYE, QFI, OMM, ?
Ans X 1.MTP
o 2. MTQ
< 3.NTP
X 4.NTQ
Question Type : MCQ
Question ID : 630680334928
Option 11D : 6306801302967
Option 2 ID : 6306801302965
Option 31D : 6306801302968
Option 4 1D : 6306801302966
Status : Answered
Chosen Option : 2
Marks : 2
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Ans X 1.EMH
X 2.170
X 3.SAV
& 4. YGE

Q.9 Three of the following four are alike in a certain way and thus form a group. Which is the
one that does NOT belong to that group?

Question Type :
Question ID :

: 6306801302947
: 6306801302948
: 6306801302945
: 6306801302946
Status:

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

McQ
630680334923

Answered
4
2

Ans

« 1. 56 hours
X 2.15 hours
X 3. 48 hours

© 4 55% hours

Q.10 There is a leak at the bottom of a cistern. Due to this it takes 8 hours to fill the cistern. Had
there not been a leak, it would have taken one hour less to fill the cistern. How much time
does it take for the leak to completely empty the cistern?

Question Type :
: 630680334979
: 6306801303171
: 6306801303172
: 6306801303169
: 6306801303170
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

McQ

Answered
4
0
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0,3,7,12,18,?
Ans  # 1.25

X 223
% 3.26
X 4.24

Q.11 Which of the following options should come in place of the question mark (?) in the given
series in order to make it logically complete?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334911
6306801302899
6306801302897
6306801302900
6306801302898
Answered

1

2

alphabetical order?

Q.12 What should come in place of the question mark (?) in the given series based on the English

W,Y,CELK?
Ans X 1.M
& 2.0
X 3.R
X 4.s
Question Type : MCQ
Question ID : 630680334927
Option 11D : 6306801302961
Option 2 ID : 6306801302963
Option 3 ID : 6306801302962
Option 4 ID : 6306801302964
Status : Answered
Chosen Option: 2
Marks : 2
Q.13 Four word pairs have been given, out of which three are alike in some manner and one is
different. Select the one that is different.
Ans X 1.Boil : Boiler
/X 2. Toast : Toaster
/< 3. Cool : Air Conditioner
o 4. Freezer : Refrigerator
Question Type : MCQ
Question ID : 630680334956
Option 11D : 6306801303078
Option 2 ID : 6306801303077
Option 3 1D : 6306801303080
Option 4 ID : 6306801303079
Status : Answered
Chosen Option : 4
Marks : 2
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Q.14 Evaluate: 15 +[18 - {4 + (16 - 5)}].

Ans ¥ 1.18
< 2.17
X 3.21
X 4.15
Question Type : MCQ
Question ID : 630680334957
Option 11D : 6306801303083
Option 2 ID : 6306801303082
Option 31D : 6306801303084
Option 4 1D : 6306801303081
Status : Answered
Chosen Option : 1
Marks : 2
Q.15 Select the option in which the letter-clusters share the same relationship as that shared by
the given pair of letter-clusters.
EUK : KAQ
ARH : GXN
Ans X 1.DGI:JMN
2 2. GUR: JBX
o« 3.0LD : URJ
X 4.1L0: 0QU
Question Type : MCQ
Question ID : 630680334926
Option 11D : 6306801302959
Option 2 ID : 6306801302958
Option 3 ID : 6306801302957
Option 4 1D : 6306801302960
Status : Answered
Chosen Option : 3
Marks : 2
Q.16 Simplify {(723 + 1992)2 -(723 - 1992)2}/(723 x 1992).
Ans 1.4
X 2.5
X 3.6
X 47
Question Type : MCQ
Question ID : 630680334959
Option 11D : 6306801303089
Option 2 ID : 6306801303090
Option 31D : 6306801303091
Option 4 1D : 6306801303092
Status : Answered
Chosen Option: 1
Marks : 2
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finish the work?
Ans X 1.54

% 2.50
% 3.40
o 4.60

Q.17 A and B can together finish a work in 30 days. They worked together for 20 days and then B
left. After another 20 days, A finished the remaining work. In how many days can A alone

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334978
6306801303167
6306801303166
6306801303165
6306801303168
Answered

4

2

16 years?
Ans X 1.12.5%

X 2.2.5%
o 3.6.25%
X 4.5.6%

Q.18 At what rate percentage per annum on simple interest will a sum of money double itself in

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334974
6306801303150
6306801303152
6306801303149
6306801303151
Answered

1

0

Q.19 A train travelling at a speed of 45 km/h crosses a pole in 24 sec. What is the length of the

train?
Ans X 1.150m
X 2.125m
& 3.300m
X 4.130m
Question Type : MCQ
Question ID : 630680334976
Option 11D : 6306801303159
Option 2 ID : 6306801303157
Option 3 1D : 6306801303160
Option 4 ID : 6306801303158
Status : Answered
Chosen Option : 3
Marks : 2
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Q.20 Which of the following options should come in place of the question mark (?) in the given
series in order to make it logically complete?
3,5,9,17,33,?

Ans ¥ 1.65
< 2.66
% 3.63
X 4.61

Question Type : MCQ
Question ID : 630680334910
Option 11D : 6306801302894
Option 2 ID : 6306801302893
Option 31D : 6306801302895
Option 4 1D : 6306801302896
Status : Answered
Chosen Option : 1
Marks : 2

Q.21 Read the given statements and conclusions carefully. You have to take the given statements
to
be true even if they seem to be at variance from commonly known facts. You have to decide
which conclusion/s logically follow/s from the given statements.
Statements: All fingers are hands.
Some hands are legs.
All legs are toes.
Conclusion (1): All toes are fingers.
Conclusion (Il): Some hands are toes.

Ans X 1. Neither conclusion (I) nor (lI) follows.
25 2. Only conclusion (1) follows.
& 3. Only conclusion (Il) follows.
Z< 4. Both conclusions (1) and (ll) follow.

Question Type : MCQ
Question ID : 630680334924
Option 1 ID : 6306801302951
Option 2 ID : 6306801302949
Option 3 ID : 6306801302950
Option 4 ID : 6306801302952
Status : Answered
Chosen Option : 3
Marks : 2
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Ans X 1.46 km/h
% 2.47km/h
& 3.48 km/h
X 4.49 km/h

Q.22 If a person covers a distance of 90 km at a speed of 45 km/h and another distance of 150
km at a speed of 50 km/h, then his average speed for the whole journey is:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680334977
6306801303164
6306801303162
6306801303161
6306801303163
Answered

2

0

is .
Ans X 1.41%

Q.23 If a man bought 6 pencils for ¥5 and sold them at 5 pencils for 6, then the gain percentage

X 2.42%
o 3.44%
X 4.43%
Question Type : MCQ
Question ID : 630680334973
Option 1 ID : 6306801303148
Option 2 ID : 6306801303147
Option 3 1D : 6306801303145
Option 4 ID : 6306801303146
Status : Answered
Chosen Option : 3
Marks : 2
Q.24 Which of the following options should come in place of the question mark (?) in the given
series in order to make it logically complete?
HI1, LM2, PQ4, ?
Ans X 1.VU8
X 2.TV7
X 3.uvs
o 4.TU7
Question Type : MCQ
Question ID : 630680334909
Option 1 1D : 6306801302892
Option 2 ID : 6306801302889
Option 3 1D : 6306801302890
Option 4 1D : 6306801302891
Status : Answered
Chosen Option : 4
Marks : 2
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Q.25 At what rate percentage per annum will a certain sum of money double itself in 2 years, the
interest being compounded annually? [Give your answer correct to 1 decimal place.]

Ans X 1.44.4%
X 2.39.4%
o 3.41.4%
X 4.40.4%

Question Type : MCQ
Question ID : 630680334975
Option 11D : 6306801303153
Option 2 ID : 6306801303156
Option 31D : 6306801303154
Option 4 1D : 6306801303155
Status : Answered
Chosen Option: 3
Marks : 2

http://www.adda247.com/mr Adda247HRTSt App https://t.me/Adda247Marathi


https://t.me/Adda247Marathi
https://t.me/Adda247Marathi
https://www.adda247.com/?_branch_match_id=1073533051141160270&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=
https://www.adda247.com/mr/

